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Run 6086 mpswise, acc0: All

Entries: 807323

Mean: BEDTE +/- 00072

Sid Dev: 64985 +- 0.0081
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Run 6086 mpswise, acc0: Beam ON, Laser ON

—— Helicity==0
— Helicity==1

Eniries: 1Ta0&1

Mean: 1548566 «/- 0.0022

Sbd Dey: 08512 +~ D006

Enitries: 178549

Mean: 15.5088 /- 00022

Sid Dwery: 0.9504 - 000718
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Run 6086 mpswise, acc(Q: Beam OFF

Enilries: 114065

Meari: DU00EE +/- 0.0005

Sid Dy 01750 - 0.0004
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Run 6086 mpswise, acc0: Beam ON, Laser OFF

— Helicity==0
— Helicity==1

Enitries: 139124

Mean: 35672 4- 0up12

Sid Drev: 04368 +- 0.0008
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Run 6086 mpswise, AccO vs Time: All
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Run 6086 mpswise, AccO vs Time: Beam ON, Laser ON
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Run 6086 mpswise, Accl vs Time: Beam OFF
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Run 6086 mpswise, AccO vs Time: Beam ON, Laser OFF
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